|4/+j k) ZJUPM-STE SR @D

INSERT NOZZLES ~ No.E-9991PM

A PM O B-2ST / SUS416. ST1 /Ek
JR)-iR—)U 1 H#58,7SUS303

10MPa  ([#EE]) 70C ([@AAE] RIIAH
@ 10MPaDBES A T,

G

ST294F ST194F ! )
I
o
A
Uvo
WtEk - ffiigR (BS=RIR M8) * BTG
\ : : : : : : : : i
Z—5—No. No. gL A i B C D E [F G CBSg 0
: : : : : : 1~9f 10ELE
% 115885 |PM1C-1ST2| ST-1 = M8X1 : 4.1 2 6.4 1 95 34° 2 5,550 | 4,940
% 115886 | PM2C-1ST2| ST-1 @ M8X1 i 4.1 2 6.4 1.6 9.5 34° 2 5,700 = 5,150
% 115887 |PM3C-1ST1| ST-1 = M8X1 | 4.1 2 0 2.2 9.5 36° 2 5,550 & 4,940
% 115888 |PM3C-1ST2| ST-1 = M8X1 | 4.1 2 6.4 2.2 95 26° 2 5,700 = 5,150
Wt - fligx  (BS=RIER M10) * BRI
#—5"—No. No. s47 A B8 ¢ b E F G  mEg | Co@E
: : : : : : : 1~9f 10@IEL
% 115889 |PM1D-1ST2| ST-1 M10X1: 4.2 1.9 6.4 1 12.7 31° 4 5,550 : 4,940
% 115890 |PM2D-1ST2| ST-1 MI10X1: 4.2 1.9 6.4 16 @ 127 31° 4 5,700 = 5,150
% 115891 |PM3D-1ST2| ST-1 M10X1: 4.2 1.9 6.4 22 0127 371° 4 5,500 & 4,940
% 115892 | PM5D-1ST1| ST-1 MI10X1: 4.2 1.9 0 M35 | 127 26° 4 5,450 = 4,860
!
WtER - iR (BSRIE M12) * SIS §
#—5'—No. No. 94 A ¢ B  C ¢ D ¢ E | F i G @ H&BEg % EE'E
: : : : : : : : 1~9f  10fLLE
% 115893 | PM2E-1ST2 | ST-1 M12X1:@ 43 23 6.4 1.6 14.3 37° 6 6,500 | 5,800
% 115894 | PM2E-1ST4 | ST-1 M12X1:@ 4.3 2.3 31.8 1.6 14.3 26° 8 7,600 = 6,850
% 115895 | PM3E-1ST2 | ST-1 'M12X1: 4.3 2.3 6.4 2.2 14.3 37° 6 6,500 = 5,800
% 115896 | PM3E-1ST4 | ST-1 M12X1:@ 4.3 2.3 31.8 2.2 14.3 26° 8 7,600 = 6,850
% 115897 | PM4E-1ST2 | ST-1 'M12X1:@ 4.3 23 6.4 3 14.3 30° 6 6,500 = 5,850
% 115898 | PM4E-1ST3 | ST-1 'M12X1:@ 4.3 2.3 12.8 3 14.3 30° 7 6,800 = 6,150
% 115899 | PM4E-1ST4 | ST-1 'M12X1: 4.3 2.3 31.8 3 14.3 26° 8 7,600 = 6,850
% 115900 | PMGE-1ST1 | ST-1 M12X1: 4.3 2.3 0 M4 14.3 30° 6 6,400 = 5,750
WLER - fiAgR *« LT
Z—5'—No. No. 947 A B i C i D E | F i G @ =mg %
: : : : 1~9f8 1081k

* 157165 | PMT08410 ST-1 1 5/16-24UNJF © 3.6 2.3 5.8 1 9.5 34° 2.6 | 6,500 : 5,800
* 157166 | PMT08412-SS | ST-2 : 5/16-24UNJF | 3.6 2.3 5.8 1 9.5 34° 2.5 | 7,600 : 6,850
* 157167 | PMT08415 ST-1 1 5/16-24UNJF | 3.6 2.3 0 1.6 @ 95 40° 2.5 | 6,500 5,800
* 157168 | PMT08416-SS | ST-2 : 5/16-24UNJF @ 3.6 2.3 0 1.6 @ 95 40° 2.3 | 7,600 6,850
* 157169 | PMT08420 ST-1 1 5/16-24UNJF | 3.6 2.3 5.8 1.6 © 95 34° 2.6 | 6,500 5,850
* 157170 | PMT08422-SS | ST-2 : 5/16-24UNJF | 3.6 2.3 5.8 16 @ 95 34° 2.4 | 6,800 6,150
* 157171 | PMT08430 ST-1 1 5/16-24UNJF | 3.6 2.3 0 2.1 9.5 36° 2.4 | 7,600 6,850
% 157172 | PMT08432-SS | ST-2 | 5/16-24UNJF = 3.6 2.3 0 2.1 9.5 36° 2.2 | 6,400 5,750

SINCE 1560

NABEYA co.uo. CADF—99 50—k « EHEREE Web U/ rT ! [ AT \ ﬁ* 939

FriendsNo.219/2022. 1 13{ER




BUSE A

940

A5 —~/ ZX)LPM-STEY

INSERT NOZZLES

No.E-9991PM

ERON®

* (R

Wtk - iR (BIRIE 7/16-20UNF)

i . _ i
ZF—5"—No. No. IALF A : B C D : E : F : G BEg 1~9% §10fIEL>U:
%972929 | PM1B-1ST ST-1 7/16-20UNJF . 4 2.3 64 1 127 0 377 5 | 4510 4,030
% 972930 | PM1B-2ST ST-2 7/16-20UNJF. 4 23 64 1 127 - 377 5 |5350 4,820
%972931 | PM2B-1ST ST-1 :7/16-20UNJF. 4 2.3 64 16 127 377 . 5 |4510 4,030
% 972932 | PM2B-2ST ST-2 :7/16-20UNJF. 4 23 64 16 127 377 5 |5350 4,820
% 157181 | PMT04514 ST-1 7/16-20UNJF. 4.1 . 23 325 16 127  26° . 7.2 |5800 5200
% 157182 | PMT04516-SS | ST-2 17/16-20UNJF. 4.1 = 23 . 325 1.6 127  26° 69 |6,950 6,250
% 972933 | PM3B-1ST ST-1 :7/16-20UNJF. 4 2.3 64 22 127 377 5 |4510 4,030
% 972934 | PM3B-2ST ST-2 :7/16-20UNJF. 4 23 64 22 127 377 5 |5350 4,820
* 157183 | PMT04523 ST-1 7/16-20UNJF. 4.1 - 23 . 325 22 127  26° . 6.7 |5800 5200
% 157184 | PMT04524-SS | ST-2 17/16-20UNJF. 4.1 = 23 . 325 22 127  26° 6.4 |6,950 6,250
% 972935 | PM4B-1ST ST-1 :7/16-20UNJF. 4 2.3 0 3 127 41° 5 | 4510 4,030
% 972936 | PM4B-2ST ST-2 :7/16-20UNJF. 4 23 0 3 127  41° 5 |5350 4,820
* 972937 | PM5B-1ST ST-1 7/16-20UNJF . 4 23 64 3 12,7 0 30° 5 |4510 4,030
* 972938 | PM5B-2ST ST-2 7/16-20UNJF 4 23 64 3 12,7 - 30° = 5 |5350 4,820
* 157185 | PMT04528 ST-1 :7/16-20UNJF. 4.1 = 23 325 29 127  26° 59 |5800 5,200
% 157186 | PMT04529-SS | ST-2 7/16-20UNJF. 4.1 = 23 = 325 29 127  26° 56 |6,950 6,250
* 157187 | PMT04534 ST-1 7/16-20UNJF. 4.1 . 2.3 07 41 127 30° 47 | 4170 3,760
* 157188 | PMT04536-SS | ST-2 7/16-20UNJF. 4.1 = 2.3 07 41 127 30° = 4.4 |5050 4,520
WTER - @8R (BUS=RIE  1/2-20UNF) * EEEER

i . o BRI
ZF—5—No. No. IA4F A : B C D E : F : G BEg 1~9@ §101L>U:
% 157189 | PMT07020 ST-1 1/2-20UNJF . 4.1 2.3 8 1 143  36° 79 | 5650 5,100
% 157190 | PMT08005-SS | ST-2 :1/2-20UNJF. 4.1 = 2.3 8 1 143 . 36° 75 | 6,800 6,150
% 157191 | PMT08010 ST-1 1/2-20UNJF. 4.1 = 23 8 16 143 36" 7.7 | 5650 5,100
% 157192 | PMT08012-SS | ST-2 1/2-20UNJF. 4.1 : 2.3 8 16 143  36° 7.3 | 6,800 6,150
% 157193 | PMT08014 ST-1 1/2-20UNJF . 4.1 23 333 1.6 143 . 32° 92 | 6700 6,050
% 157194 | PMT08016-SS | ST-2 (1/2-20UNJF. 41 = 23 333 . 16 = 143  32° 89 | 8000 7,200
% 157195 | PMT08020 ST-1 1/2-20UNJF. 4.1 = 23 8 22 143 36° 7.6 | 5650 5,100
% 157196 | PMT08022-SS | ST-2 1/2-20UNJF. 4.1 : 2.3 8 22 143 36" 7.2 | 6800 6,150
% 157197 | PMT08024 ST-1 11/2-20UNJF: 4.1 23 333 22 143 32° 87 | 6700 6,050
% 157198 | PMT08026-SS | ST-2 (1/2-20UNJF. 41 = 23 333 . 22 143  32° 83 | 8000 7,200
% 157199 | PMT08030 ST-1 1/2-20UNJF. 4.1 = 23 16 3 143 . 44° 6.8 | 5450 = 4,880
% 157200 | PMT08028-SS | ST-2 1/2-20UNJF. 4.1 : 2.3 16 3 143  44° 64 | 6550 5,900
% 157201 | PMT08029 ST-1 11/2-20UNJF: 4.1 2.3 78 3 143  36° 7.1 | 5650 5,100
% 157202 | PMT08032-SS | ST-2 1/2-20UNJF. 4.1 = 2.3 78 3 143 . 36° 6.7 | 6,800 6,150
% 157203 | PMT08050 ST-1 1/2-20UNJF. 4.1 = 23 142 3 143 . 36° 7.3 | 5500 4,920
% 157204 | PMT08051-SS | ST-2 1/2-20UNJF: 4.1 : 23 142 : 3 143  36° 69 | 6600 5950
% 157205 | PMT08034 ST-1 11/2-20UNJF: 4.1 23 332 3 143  32° 7.8 | 6700 6,050
% 157206 | PMT08036-SS | ST-2 1/2-20UNJF. 41 = 23 332 3 143 . 32° 75 | 8,000 7,200
% 157207 | PMT08040 ST-1 1/2-20UNJF. 4.1 = 23 13 41 143 36° 65 | 5450 @ 4,880
% 157208 | PMT08041-SS | ST-2 1/2-20UNJF. 4.1 : 2.3 13 41 143  36° 6.2 | 6550 5,900
% 157209 | PMT08042 ST-1 11/2-20UNJF: 4.1 23 143 41 143 32" 7 | 5950 5,400
% 157210 | PMT08043-SS | ST-2 (1/2-20UNJF. 41 = 23 143 . 41 143  32° 67 | 7100 = 6,450
% 157211 | PMT08044 ST-1 1/2-20UNJF. 4.1 . 23 33 41 143 32° 79 | 6,700 = 6,050
% 157212 | PMT08046-SS | ST-2 1 1/2-20UNJF. 4.1 . 23 33 41 143 327 75 | 8000 @ 7,200

CADF—959y0—K - EERAE Web ¥ bT! [ 7~V

SINCE 1560

NABEYA co., L.

FriendsNo.219/2022. 1 1{EkR



Wtig - iR (BS=®=IE  5/8-18UNF) * [EAELERE R
‘ : _ BTG
+—9"—No. No. 947"; A E B C E D E E F : G Hig 1~98  10BLLL
* 157213 | PMT08110 ST-1 '5/8-18UNJF: 53 © 23 11 16 175 40° @ 15.1 | 6,750 : 6,100
% 157214 | PMT08112-SS | ST-2 :5/8-18UNJF: 53 @ 23 11 16 175 = 40° = 145 | 8,100 : 7,300
* 157215 | PMT08114 ST-1 '5/8-18UNJF: 53 : 23 333 16 175 40° : 17.9 | 7,750 . 7,000
% 157216 | PMT08116-SS | ST-2 :5/8-18UNJF: 53 @ 23 333 ' 16 : 175 : 40° ' 17.2 | 9,250 : 8,350
% 157217 | PMT08120 ST-1 5/8-18UNJF: 53 : 23 11 21 175 40° © 149 | 6,750 = 6,100
% 157218 | PMT08122-SS | ST-2 :5/8-18UNJF: 53 @ 23 11 21 175 = 40° © 14.3 | 8,100 7,300
% 157219 | PMT08124 ST-1 '5/818UNJF: 53 | 23 333 22 175 40° 173 | 7,750 : 7,000
% 157220 | PMT08126-SS | ST-2 :5/8-18UNJF: 53 @ 23 333 ' 22 {175 : 40° ' 166 | 9,250 : 8,350
% 157221 | PMT08130 ST-1 '5/8-18UNJF: 53 : 23 142 @ 3 175 = 40° ' 14.7 | 7,000 = 6,300
% 157222 | PMT08132-SS | ST-2 :5/8-18UNJF: 53 | 23 142 @ 3 175 = 40° © 14 | 8,400 7,600
% 157223 | PMT08134 ST-1 '5/818UNJF: 53 | 23 333 3 175 ¢ 40° © 16.2 | 7,750 = 7,000
* 157224 | PMT08136-SS | ST-2 :5/8-18UNJF: 53 : 23 333 @ 3 175 @ 40° © 156 | 9,250 = 8,350
% 157225 | PMT08138 ST-1 '5/8-18UNJF: 53 « 2.3 1.7 - 41 175 42° 129 | 6,550 : 5,900
% 157226 | PMT08139-5S | ST-2 :5/8-18UNJF: 53 : 2.3 1.7 - 41 175 42° 123 | 7,800 : 7,050
% 157227 | PMT08140 ST-1 '5/818UNJF: 53 : 23 142 = 41 175 40° = 13.6 | 7,000 : 6,300
% 157228 | PMT08142-SS | ST-2 '5/8-18UNJF: 53 = 23 142 = 41 175 : 40° = 129 | 8,400 : 7,600
% 157229 | PMT08144 ST-1 '5/8-18UNJF: 53 : 23 332 41 175 40° : 143 | 7,750 @ 7,000
% 157230 | PMT08146-SS | ST-2 '5/8-18UNJF: 53 @ 23 332 = 41 175 : 40° = 13.7 | 9,250 : 8,350
% 157231 | PMT08158 ST-1 '5/8-18UNJF: 53 : 23 138 5 175 ¢ 34° 137 | 7,150 : 6,500
* 157232 | PMT08160-SS | ST-2 :5/8-18UNJF: 53 | 23 138 @ 5 175 ¢ 34° © 13.1 | 8,600 : 7,750
% 157233 | PMT08148 ST-1 :5/8-18UNJF: 53 = 23 13 56 175 34° 121 | 6,550 : 5900
% 157234 | PMT08149-SS | ST-2 :5/8-18UNJF: 53 : 23 128 56 175  34° 115 | 7,800 : 7,050
% 157235 | PMT08150 ST-1 '5/8-18UNJF: 53 : 23 138 56 175 34° ' 129 | 7,000 : 6,300
* 157236 | PMT08152-SS | ST-2 '5/8-18UNJF- 53 : 23 138 56 175 34° = 123 | 8,400 : 7,600
% 157237 | PMT08154 ST-1 '5/8-18UNJF: 53 = 23 329 = 56 175 34 . 139 | 7,750 @ 7,000
% 157238 | PMT08156-SS | ST-2 :5/8-18UNJF: 53 : 23 329 56 175 34° @ 133 |9,250 : 8,350

BT HERETE Wm{ERS
A—RLRY SBTAY
2B A H
SBTH! i
- M 8x1 8.66~ 8.81
M10X1 10.85~11 STE I
= 5 M12X1 12.75~12.9 i Q
€&
AVFRY
RIE A B
A 5/16-24UNF 8.69~ 8.84 691~ 7.11
= . 7/16-20UNF 11.86~12 9.88~10.08
1/ 2-20UNF 13.44~13.59 11.46~11.66
5/ 8-18UNF 16.61~16.76 14.5~14.71

SINCE 1560

NABEYA co., L.

FriendsNo.219/2022. 1 13{ER

CADF—959y0—k « EERRI Web ¥ bT! [ 7T

|

BOEE MM

941





